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सामा�‍य‍�र्��‍   

���‍��ख�त�‍��्���‍ो�‍ह �ु�‍�वधाव��‍��‍ढ��‍�‍र�‍न�ोव‍ढवख�‍ो��ए�‍  
(i) इ�‍��‍�-ढ�‍म�‍30‍��‍�‍ु�‍�‍सभी‍��‍�‍अ�रवाय�‍ु�‍�‍ 

(ii) ��‍�-ढ�‍पा�च‍त�‍ड�‍म�‍�ध�व�ए�‍ु�‍—‍ख�‍ड‍क, ख, ग, घ‍�ध‍ंङ‍�‍‍ 

(iii) ख�‍ड‍क‍–‍��‍�‍�ं�‍�व‍1‍��‍12‍�ो‍हु��धो�‍ढ��‍�ोव�‍ो� ‍��‍�‍ु�‍�‍��‍��ो‍��‍�‍1‍अों‍ोव‍ु�‍� 

(iv) ख�‍ड‍ख‍–‍��‍�‍�ं�‍�व‍13‍��‍18‍�ो‍खघ�-न����‍�ोव�‍ो� ‍��‍�‍ु�‍�‍��‍��ो‍��‍�‍2‍अों�‍ोव‍ु�‍�‍
��‍��ो‍��‍�‍ोव‍न��‍50‍��‍60‍��‍् �‍म�‍�ख�त�‍�‍   

(v) ख�‍ड‍ग‍–‍��‍�‍�ं�‍�व‍19‍��‍23‍�ो‍्�घ�-न����‍�ोव�-I ो� ‍��‍�‍ु�‍�‍��‍��ो‍��‍�‍4‍अों�‍ोव‍ु�‍�‍
��‍��ो‍��‍�‍ोव‍न��‍100‍��‍120‍��‍् �‍म�‍�ख�त�‍�  

(vi) ख�‍ड‍घ‍–‍��‍�‍�ं�‍�व‍24‍��‍26‍अध��ण, ोव����‍�थव‍मव��ि�-आाव���‍��‍�‍ु�‍ �‍��‍��ो‍��‍�‍ोव‍न��‍
�थव���व�‍�ख�त�‍�   

(vii) ख�‍ड‍ङ‍–‍��‍�‍�ं�‍�व‍27‍��‍30‍�ो‍्�घ�-न����‍�ोव�-II ो� ‍��‍�‍ु�‍�‍��‍��ो‍��‍�‍6‍अों�‍ोव‍ु�‍�‍��‍��ो‍
��‍�‍ोव‍न��‍170‍��‍180‍��‍् �‍म�‍�ख�त�‍� 

(viii) ��‍�-ढ�‍म�‍ो�ई‍�म�‍�धो�‍ढ‍�ु�‍ु�‍�‍���ढ‍ो� �‍��‍��‍म�‍आ�ं��ो‍�धो�‍ढ‍ोव‍�वधाव�‍�्�व‍य�व‍ु�‍�‍इ�‍
��‍��‍म�‍��‍ो� धख‍एक‍ु�‍��‍�‍ोव‍न��‍�खतव‍एव�‍�‍ 

(ix) इ�ो� ‍अ�����‍�, �‍�व�‍्�‍ �ो‍���हव�ा�‍ढ���व�थ���‍ो� ‍ �ख�‍ट���‍�थव‍मव��ि�‍आ�्‍आाव���‍��‍��‍ो� ‍
�‍थव�‍ढ�‍�ो‍अ�‍�‍��‍�‍�्�व‍य�व‍ु�‍�‍इ�‍��‍��‍ो� ‍न��‍ो� धख‍���हव�ा�‍ढ���वथ�‍ु�‍�खत�‍� 

ख�‍ड‍क  

��‍�‍�ं�‍�व‍1‍��‍12‍�ो‍हु��धो�‍ढ��‍�ोव�‍ो� ‍1‍अों ो� ‍��‍�‍ु�‍� 12´1=12  

1. द�मसा सम�ुाय भा�त क�  दकस �ा� य स� स� �� ध �खता है ?  

(A) दम���म  

(B) द�प�ुा  

(C) असम  

(D) मदिप�ु 

2. 1955 म� ए��-एद�यन कॉ��� स दन� नद�दखत म� स� दकस � �ान प� ह�थ �� ? 

(A) जकाता�  (B) �ा��ु�ग  

(C) �ा��  (D) जा�ा  
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General Instructions :  

Read the following instructions very carefully and follow them : 
(i) This question paper contains 30 questions. All questions are compulsory.  
(ii) Question paper is divided into five sections – Sections A, B, C, D and E.  
(iii) Section A – Questions number 1 to 12 are Multiple Choice type questions. Each 

question carries 1 mark.   
(iv) Section B – Questions number 13 to 18 are Short Answer type questions. Each question 

carries 2 marks. Write answer to each question in 50 to 60 words.  
(v) Section C – Questions number 19 to 23 are Long Answer type-I questions. Each 

question carries 4 marks. Write answer to each question in 100 to 120 words. 
(vi) Section D – Questions number 24 to 26 are Passage, Cartoon and Map-based 

questions. Answer each question accordingly. 
(vii) Section E – Questions number 27 to 30 are Long Answer type-II questions. Each 

question carries 6 marks. Write answer to each question in 170 to 180 words. 
(viii) There is no overall choice in the question paper. However, an internal choice has been 

provided in few questions. Only one of the choices in such questions has to be 
attempted. 

(ix) In addition to this, note that a separate question has been provided for Visually 
Impaired candidates in lieu of questions having visual inputs, map etc. Such questions 
are to be attempted by Visually Impaired candidates only.  

SECTION A 

Questions number 1 to 12 are Multiple Choice type questions, carrying 1 mark‍ 
each. 12´1=12 

1. To which state of India does the Dimasa community belong ?  

 (A) Mizoram    

(B) Tripura  

(C) Assam   

(D) Manipur  

 

2. Where was the Afro-Asian Conference held in 1955 ? 

(A) Jakarta  (B) Bandung  

(C) Bali  (D) Java  
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3.  इस �� न क�  द�ए, �� क�न द�ए गए ह� — दजनम� एक क� अदभक�न (A) त�ा �सू�� क� का�ि (R) 

�ा�ा अ�दकत दकया गया ह ै। इन क�न� क� � यान स� पद� ए �� न�े� द�ए गए द�क� प� (A), (B), (C) 
�� (D) म� स� उ�� क�  �प म� सह� द�क� प ेदुनए । 

 अ��ोथ� (A) : असम स� एक जनजात�य �ा� य क�  �जाय अन�क �ा� य अ�ग क�क�  �नाए गए । 

 ोव�ण (R) : �मखु जनजात�य सम�ुाय� क�  न�ता असम स� अ�ग ह�ना ेाहत� �� ।   
द�क� प : 
(A) अदभक�न (A) �� का�ि (R) ��न� सह� ह� �� का�ि (R), अदभक�न (A) क� सह� 

� या� या क�ता है । 
(B) अदभक�न (A) �� का�ि (R) ��न� सह� ह�, प�� त ुका�ि (R), अदभक�न (A) क� सह� 

� या� या रह� क�ता है ।  

(C) अदभक�न (A) सह� है, प�� त ुका�ि (R) ��त है । 
(D) अदभक�न (A) ��त ह,ै प�� त ुका�ि (R) सह� है । 

4. भा�त �� े�न न� प�े��� समझौत� प� ह� ता�� दकस ��� म� दकए �� ? 

(A) 1950  (B) 1952 

(C) 1954  (D) 1956 

5. भा�त म� कौन-स� ��� प�ू� ��� म� इ����ॉदनक ��द��ग म��न (EVM) का �य�ग ��ु दकया गया ? 

(A) 2001 (B) 2002 

(C) 2003 (D) 2004  

6. दन� नद�दखत म� स� कौन-स� �ाजन�दतक पा�� पह�� ��कसभा म� म�ु य द�प�� पा�� �� ? 

(A) क�यदुन�� पा�� ऑफ इ�द�या 

(B) भा�त�य जनस�घ 

(C) स��द��� पा��  

(D) का���स स��द��� पा�� 
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3. For this question, two statements are given - one labelled as Assertion (A) and 
the other labelled as Reason (R). Read these statements carefully and choose the 
correct option as the answer from the options (A), (B), (C) and (D) given below. 

 Assertion (A) : Instead of one tribal state, several states got carved out of Assam. 

 Reason (R) : Leaders of the major tribal communities wanted to separate from 
Assam. 

Options : 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 
explanation of the Assertion (A).  

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 
correct explanation of the Assertion (A).  

(C) Assertion (A) is true, but Reason (R) is false.  

(D) Assertion (A) is false, but Reason (R) is true. 

4. In which year did India and China sign the Panchsheel Agreement ?   

(A) 1950   (B) 1952 

(C) 1954    (D) 1956 

5. In which year did India start using the Electronic Voting Machines (EVM) 

throughout the entire country ?   

(A) 2001   (B) 2002  

(C) 2003  (D) 2004 

6. Which one of the following political parties was the main opposition party in the 

first Lok Sabha ?     

(A) Communist Party of India  

(B) Bharatiya Jana Sangh   

(C) Socialist Party   

(D) Congress Socialist Party  
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7. इस �� न क�  द�ए� �� क�न द�ए गए ह� — दजनम� एक क� अदभक�न (A) त�ा �सू�� क� का�ि (R) 

�ा�ा अ�दकत दकया गया ह ै। इन क�न� क� � यान स� पद� ए �� न�े� द�ए गए द�क� प� (A), (B), (C) 
�� (D) म� स� उ�� क�  �प म� सह� द�क� प ेदुनए । 

 अ��ोथ� (A) : साझ� स�प�ा क�  स�साधन प�ू� �दुनया म� आका�, गिु��ा �� ����� क�  द�ए उनक� 
उप�� धता क�  आधा� प� घ� �ह� ह� । 

 ोव�ण (R) : साझ� स�प�ा क�  दन� न�क�ि क�  द�ए कथ का�क जैस� दनज�क�ि� गहनत� ख�त�� 
जनस��या �दृ� �� पा��द��दतक� त�� क� दग�ा�� उ���ाय� ह� ।   

द�क� प : 

(A) अदभक�न (A) �� का�ि (R) ��न� सह� ह� �� का�ि (R), अदभक�न (A) क� सह� 
� या� या क�ता है । 

(B) अदभक�न (A) �� का�ि (R) ��न� सह� ह�, प�� त ुका�ि (R), अदभक�न (A) क� सह� 
� या� या रह�‍क�ता है ।  

(C) अदभक�न (A) सह� है, प�� त ुका�ि (R) ��त है । 

(D) अदभक�न (A) ��त ह,ै प�� त ुका�ि (R) सह� है । 

 

8. सूे �-I का सूे �-II स� सह� दम�ान क�दजए �� उ�� क�  �प म� सह� द�क�प ेदुनए : 

 ��ि�-I  ��ि�-II 

1. ऊजा� स���ि अदधदनयम� भा�त    (i) 1975 

2. द�ज�� अदधदनयम, भा�त (ii) 1992 

3. प�ृ �� स� म��न (iii) 2001 

4. �� �� काउ�दस� ऑफ इ�द�दजनस 
प�प� (म�ू�ादसय�)  

(iv) 2003 

 
द�क�प : 

(A) 1-(iv), 2-(i), 3-(iii), 4-(ii)  

(B) 1-(iii), 2-(iv), 3-(ii), 4-(i) 

(C) 1-(ii), 2-(iii), 3-(i), 4-(iv) 

(D) 1-(i), 2-(ii), 3-(iv), 4-(iii) 
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7. For this question, two statements are given - one labelled as Assertion (A) and 
the other labelled as Reason (R). Read these statements carefully and choose the 
correct option as the answer from the options (A), (B), (C) and (D) given below. 

 Assertion (A) : Common property resources have dwindled in size, quality and 
availability to the poor in much of the world. 

Reason (R) : A combination of factors including privatisation, agricultural 
intensification, population growth and ecosystem degradation are 
responsible for degradation of common property. 

Options : 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 
explanation of the Assertion (A).  

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 
correct explanation of the Assertion (A).  

(C) Assertion (A) is true, but Reason (R) is false.  

(D) Assertion (A) is false, but Reason (R) is true. 

 

8. Match the List-I with List-II and choose the correct option as answer : 

 List-I  List-II 

1. The Energy Conservation Act, India    (i) 1975 

2. The Electricity Act, India  (ii) 1992 

3. Earth Summit  (iii) 2001 

4. World Council of Indigenous Peoples  (iv) 2003 

 

Options : 

(A) 1-(iv), 2-(i), 3-(iii), 4-(ii)   

(B) 1-(iii), 2-(iv), 3-(ii), 4-(i) 

(C) 1-(ii), 2-(iii), 3-(i), 4-(iv)  

(D) 1-(i), 2-(ii), 3-(iv), 4-(iii) 
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9. य�ु, �ाकृदतक आप�ा अ��ा �ाजन�दतक उ� प��न क�  का�ि ��� ड��न� �ा�� ��ग� क� दन� नद�दखत 
म� स� � या पकुा�ा/कहा जाता है ? 

(A) भग��ा  (B) दन�ा�दसत  

(C) ��िा��  (D) ��ास�  

10. “दन�� ��क�ि” क�  द�ए सभ� �ा�य� स� __________ अप��ा क� जात� ह ै। 

(A) कुड द���� �का� क�  हद�या�� क� � यागन� क�   

(B) हद�या�� क�  अदध�हि या द�कास क� द�दनयदमत क�न� क�   

(C) द���दधय� क�  सा� हद�या�� क�  �ा��  म� जानका�� साझा क�न� क� 

(D) सैदनक आ�मि क�  द��� स�ु�ा अ��ा आ�मि ��कन� क�  द�ए आपस म� सहय�ग क�न� क�  

11. दकन म� य एद�याथ गि�ा�य� क�  �ा� �पदतय� न� पह�� वर ��� क�  द�ए अपन� क� स�ा म� दनय�ु त दकया 
�� दफ� अपन� समय स�मा अग�� वर ��� क�  द�ए ��ा �� ? 

(A) दकदग��� तान �� क�ादक� तान  (B) य�ू� न �� अ���ैजान  

(C) तकु� म�दन�तान �� उ� ़��दक� तान  (D) तादजदक� तान �� क�ादक� तान  

12. दन� नद�दखत घ�नां � क� का��मानुसा� � य�द��त क�दजए : 

 I. ग��ा�े�� स�द�यत स�घ क� क�यदुन�� पा�� क�  महासदे� �न� । 

 II. �स, य�ू� न �� ���ा�स न� स�द�यत स�घ क� समाद� त  क� घ��िा क� । 

 III. �स क� �ा�दत । 

 IV. �द��न क� ���ा� का दग�ना । 

 सह� द�क�प ेदुनए । 
(A) III, I, IV, II 
(B) III, II, I, IV 
(C) III, I, II, IV  
(D) III, IV, I, II 

ख�‍ड‍ख‍ 
13. आद��क �दृ� �� ��कत�� दकस �का� भा�त क� अदधक स�ु�ा ��ान क�न� म� सहायक ह� ? � प� � 

क�दजए । 2 

14. 1952 म� पह�ा आम ेनुा� क��ाना, भा�त क�  ेनुा� आय�ग क�  द�ए एक ेनुौत�पिू� काय� � य� �ा ? 

� प� � क�दजए । 2 
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9. People who flee from war, natural disaster or political persecution are called 

___________. 

(A) Fugitives     (B) Expatriates    

(C) Refugees   (D) Migrants    

10. “Disarmament” requires all states to _______________. 
(A) give up certain kinds of weapons     
(B) regulate the acquisition or development of weapons      
(C) share information about arms with rivals      
(D) coordinate their actions to deter or defend against military attack 

11. The Presidents of which Central Asian Republics appointed themselves to power 

first for ten years and then extended their term for another ten years ? 
(A) Kyrgyzstan and Kazakhstan (B) Ukraine and Azerbaijan    
(C) Turkmenistan and Uzbekistan    (D) Tajikistan and Kazakhstan     

12. Arrange the following events in chronological order : 

I. Gorbachev became the General Secretary of Communist Party of the 
Soviet Union.    

II. Russia, Ukraine and Belarus declared that Soviet Union is disbanded.   
III. Russian Revolution.     
IV. Fall of the Berlin Wall.   

Choose the correct option. 
(A) III, I, IV, II 
(B) III, II, I, IV 
(C) III, I, II, IV 
(D) III, IV, I, II 

  SECTION B 

13. How do economic growth and democracy help India in providing greater  

security ? Explain.  2 

14. Why was holding of the first general elections in 1952 a great challenge for the 

Election Commission of India ? Explain. 2 
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15. भा�त म� दनय�दजत द�कास क� ���त प� सहमदत �नान� म� सहय�ग ��न� �ा�� दक� ह� �� का�क� क� 

उजाग� क�दजए ।  2 

16. समका��न द�� � म� ‘�ैद�क �����’ दकस �का� स�ु�ा क�  द�ए खत�� का एक नया ��त ह ै? � प� �  

क�दजए । 2 

17. �ा���ा��� क�  दनमा�ि स� प�ू�, प�ू� पादक� तान म� ��ग� �ा�ा पद�म पादक� तान क�  द���ध क�  क�थ �� 

का�ि � प� � क�दजए । 2 

18. व975 म� घ�द�त आपातका� क� �ाग ू क�न� क�  प� म� स�का� �ा�ा द�ए गए दक� ह� �� का�ि� का 

उ� ��ख क�दजए ।  2 

  ख�‍ड‍�‍ 

19. “भा�त क� द���� न�दत घ���ू �� �ाह�� का�क� क� प���द�त क�त� ह ै ।” क�न क� � याय�देत 

ठह�ाइए ।   4 

20. �ॉक ����प� क�  दक� ह� �� प��िाम� क� � या� या क�दजए ।  4 

21. (क) “�द�ि एद�या क� �ाजन�दत म� े�न �� अम��का क� भदूमका अभ� भ� अहम ह ै ।” � या 

आप इस क�न स� सहमत ह� ? अपन� उ�� क�  प� म� क�थ �� तक�  ��दजए ।  4 

 अथवा 

 (ख) ����य �ा�दत �� सहय�ग क� ��ा�ा ��न� क�  द�ए �द�ि एद�याथ ���� �ा�ा क� गथ पह�� 

(�यास�) का द�� ���ि क�दजए ।  4 

22. (क) ��ै�क�ि का द���ध क�न� म� भा�त क� भदूमका क� � या� या क�दजए । 4 

 अथवा 

 (ख) �ै��क�ि क�  स��भ� म� �ा� य� क� ���त� ह�थ भदूमका क� � या� या क�दजए । 4 

23. व986 म� �ाज�� गा�ध� �� �ा���गा क�  ��े ह�ए �ा�दत समझौत� क� ं� �� जान� �ा�� घ�नां � का 

आक�न क�दजए ।   4 
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15. Highlight any two factors that contributed towards the development of consensus 

around the need for planned development in India.  2 

16. How is ‘global poverty’ a new source of threat to security in the contemporary 

world ? Explain.  2 

17. Explain any two reasons for protests by the people of East Pakistan against West 

Pakistan prior to the creation of Bangladesh.  2 

18. State any two reasons given by the Government in support of Emergency imposed 

in 1975.    2 

SECTION C 

19. “The foreign policy of India reflects the interplay of domestic and external 

factors.” Justify the statement.  4 

20. Explain any two consequences of Shock Therapy.  4 

21. (a)  “China and the US still remain the key players in South Asian politics.” 

Do you agree ? Support your answer with two arguments.   4 

 OR 

(b) Analyse the initiatives taken by South Asian countries to promote peace 
and cooperation in the region.    4 

22. (a) Explain India’s role in resisting globalisation.   4 

                OR 

 (b) Explain the changing role of states in the light of globalisation.   4 

23. Assess the developments leading to the Peace Agreement between Rajiv Gandhi 
and Laldenga in 1986.    4   
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ख�‍ड‍घ 

24. द�ए गए अ�त�ि क� � यान स� पद�ए ��  न�े� द�ए गए �� न� क�  उ�� द�दखए : 4´1=4 

 ‘साझ� स�प�ा’ उन स�साधन� क� कहत� ह� दजन प� क�थ एक नह�, �द�क प�ू� सम�ुाय का अदधका� ह�ता  

है । यह एक ‘कॉमन �म’ या ‘साम�ुादयक क� � �’� पाक�  या न�� ह� सकता है । इस� त�ह द�� � क�  कुड 

दह� स� अ��ा ��� ऐस� भ� ह� ज� दकस� एक ��� क�  स��भ ु���ादधका� स� �ाह� ह�त� ह� । इस�द�ए उनका 

���धन साझ� तौ� प� अ� त�ा�� ��य सम�ुाय �ा�ा दकया जाता ह ै। इ� ह� ‘�दै�क स�प�ा’ कहा जाता  है । 

(i) दन� नद�दखत म� स� कौन-सा पह� ू‘�दै�क स�प�ा’ का स�स� अ�डा �ि�न क�ता है ?  

(A) क� �� ��ैादनक अनसु�धान क�  द�ए उप��ध स�साधन ।    

(B) एक� �ा�� क�  अदधका�-��� क�  तहत स�साधन ।  

(C) द�कदसत ���� क�  ���धन क�  �ाह� स�साधन ।    

(D) अ�त�ा����य सम�ुाय क�  साझा ���धन क�  तहत स��भ ु��� ।  

(ii) 1992 क�  ��य� स� म��न क� __________ नाम स� भ� जाना जाता है । 

(A) � ���� स� म��न  (B) �ह स� म��न   

(C) प�ृ �� स� म��न  (D) द�� � स� म��न  

(iii) ‘�दै�क स�प�ा’ क�  ���धन क�  द�ए अ�त�ा����य सहय�ग �य� आ��यक है ?  

 दन�नद�दखत म� स� स��पय�ु द�क�प का ेयन क�दजए :   

(A) स�साधन �े�ु मा�ा म� ह� �� ��य�-पनु:पदूत� क�न� �ा�� ह� ।  

(B) अ�य ���� क�  स�साधन� क� साझा क�न� क�  �ाजन�दतक �ाभ ह� ।  

(C) ��� अपन�-अपन� स�साधन� का ���धन क� सकत� ह� ।  

(D) सतत द�कास क�  �दत �द�क�ि सभ� क�  द�ए समान है ।  

(iv) दन� नद�दखत म� स�� ���� क�  दकस ज��� क� � य��� ����कॉ� क� �ा� यतां � स� डू� �� गथ  

�� ? 

(A) े�न �� �स  (B) े�न �� भा�त  

(C) े�न �� स�य�ु �ा�य अम��का (D) भा�त �� �ा�स  
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SECTION D 

24. Read the given passage carefully and answer the questions that follow :  4´1=4 

 ‘Commons’ are those resources which are not owned by anyone but rather shared 
by a community. This could be a ‘common room’ or a ‘community centre’, a park 
or a river. Similarly, there are some areas or regions of the world which are 
located outside the sovereign jurisdiction of any one state and therefore� require 
common governance by the international community. These are known as ‘Global 
Commons’.  

(i) Which one of the following aspects best describes the ‘Global  
Commons’ ? 

(A) Resources only accessible for scientific research.     

(B) Resources under the jurisdiction of a single nation.    
(C) Resources located outside the governance of developed nations.   

(D) Sovereign regions under the common governance of international 
community.    

(ii) The Rio Summit of 1992 is also known as ___________.  
(A) Global Summit   (B) Planet Summit  
(C) Earth Summit   (D) World Summit    

(iii) Why is the international cooperation essential for managing the ‘Global 
Commons’ ?  

Choose the most suitable option from the following : 

(A) Resources are abundant and self-replenishing.   
(B) There are political benefits for sharing resources of other countries.     

(C) Individual countries can manage their resources.    

(D) The approach towards sustainable development is common for all. 

 (iv) Which of the following pair of countries was exempted from the 
requirements of the Kyoto Protocol ? 

(A) China and Russia  (B) China and India    
(C) China and USA     (D) India and France   
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25. भा�त‍क�  द�ए गए �ाजन�दतक ��खा-मानदे� (प�ृ व5 प�)� म� ेा� �ा� य� क�   A ,   B ,   C  ��  D  

क�  �ा�ा अ�दकत दकया गया ह ै। न�े� �� गथ जानका�� क�  आधा� प�, इन �ा� य� क� पहेान क�दजए �� 

अपन� उ��-पदु�तका म� इनक�  सह� नाम, �य�ग क� गथ जानका�� क� �म स�� या त�ा मानदे� म� द�या 

गया स���दधत अ��, न�े� �� गथ ताद�का क�  �प म� द�दखए : 4´1=4 

�य�ग क� गथ जानका�� 
क� �म स�� या 

मानदे� म� द�या 
गया स���दधत अ�� 

�ा� य का नाम 
 

(i)   

(ii)   

(iii)   

(iv)   

 

(i) �ह �ा� य दजसस� प�ू� �धानम��� �ा� �हा��ु �ा� �� का स���ध �ा ।  

(ii) �ह �ा� य दजसस� प�ू� म�ु यम��� कपू��� ठाकु� का स���ध �ा । 

(iii) �ह �ा� य दजसस� प�ू� म�ु यम��� स�. न��ाजन अ� ना��ुथ का स���ध �ा । 

(iv) �ह �ा� य दजसस� भा�त क�  प�ू� �ा� �पदत ��.��. दग�� का स���ध �ा । 
 

रोट‍ : ���‍��ख�त�‍��‍�‍ो� धख‍���बा�ित‍प�ी�ा�थ�य�‍ो� ‍�ख�‍��‍�‍�ं�‍�व‍25‍ो� ‍�‍थव�‍ढ�‍ु�‍  4´1=4 

(25.1) उस �ा� य का नाम द�दखए दजसस� भा�त क�  प�ू� �ा� �पदत ��.��. दग�� का स���ध �ा ।  

(25.2) उस �ा� य का नाम द�दखए दजसस� प�ू� म�ु यम��� क� . काम�ाज का स���ध �ा । 

(25.3) उस �ा� य का नाम द�दखए दजसस� प�ू� म�ु यम��� कपू��� ठाकु� का स���ध �ा । 

(25.4) उस �ा�य का नाम द�दखए दजसस� प�ू� �धानम��� �ा� �हा��ु �ा� �� का स���ध �ा ।   
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�� स�. 25 क�  द�ए  

 

भा�त‍का‍�ेखा-मा�च�‍�‍र�ान��चतक  
 

D 

C 

A 

B 
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25. In the given political outline map of India (on page 17), four States have been 

marked as   A ,  B ,  C  and  D . Identify these States on the basis of the 
information given below and write their correct names in your answer-book along 
with the respective serial number of the information used and the concerned 
alphabets given in the map as per the following format : 4´1=4 

Serial number of the 
information used 

Concerned alphabet 
given in the map  

Name of the State 

 

(i) 
 
 
 

 

(ii) 
 
 
 

 

(iii) 
 
 
 

 

(iv) 
 
 
 

 

(i) The State to which the former Prime Minister Lal Bahadur Shastri 
belonged.  

(ii) The State to which the former Chief Minister Karpoori Thakur belonged. 
(iii) The State to which the former Chief Minister C. Natarajan Annadurai 

belonged.   
(iv) The State to which the former President of India V.V. Giri belonged. 

Note :  The following questions are for the Visually Impaired Candidates only, in lieu 
of Q. No. 25 :  4´1=4 

(25.1) Name the State to which the former President of India V.V. Giri 
belonged.    

(25.2) Name the State to which the former Chief Minister K. Kamaraj belonged. 
(25.3) Name the State to which the former Chief Minister Karpoori Thakur 

belonged.  
(25.4) Name the State to which the former Prime Minister Lal Bahadur Shastri 

belonged. 
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For question no. 25   

  

A 

C 

D 

Outline Map of India (Political) 
 

B 
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26. न�े� द�ए गए का�ू�न का अ� ययन क�दजए �� दन� नद�दखत �� न� क�  उ�� ��दजए । 1+1+2=4 

 (े�न स� स���दधत का�ू�न ह)ै 

 
 

(i) ‘�ा� दकता�’ क� हा� म� पक�� ह�ए न�ता क� पहेान क� उसका नाम द�दखए ।  

(ii) े�न म� ‘�ा� दकता�’ (त�) स� ‘�ा� �ाथ’ (अ�) तक आन� म� �या �ैे ा��क प���त�न ह�आ ? 

(iii) े�न म� ‘त�’ �� ‘अ�’ क�  ��े ह�ए दक�ह� �� आद��क प���त�न� क� �या�या क�दजए ।  

V~ 

bmb  
{H$Vm~ 

A~ 

bmb  
‘‘Q>mB©’’ 
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26. Study the cartoon given below and answer the questions that follow. 1+1+2=4 

 (The cartoon is related to China) 

 
 

(i) Identify and name the leader who is holding the ‘Red Book’. 

(ii) What ideological change took place in China from the ‘Red Book’ (Then) 
to the ‘Red Tie’ (Now) ? 

(iii) Explain any two economic changes that took place in China between 
‘then’ and ‘now’.  
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रोट :   ���‍��ख�त�‍��‍�‍ो� धख ���बा�ित‍प�ी�ा�थ�य�  ो� ‍�ख�‍��‍�‍�ं�‍�व‍26‍ो� ‍�‍थव�‍ढ�‍ु�‍: 1+1+2=4 

(26.1) े�न म� कृद� का दनज�क�ि दकस ��� �ाग ूदकया गया �ा ? 

(26.2) े�न म� सा�य�ा�� �ाद�त का न�त�ृ� क�न� �ा�� न�ता का नाम द�दखए ।    

(26.3) े�न� अ���य���ा क�  उ��ान क�  द�ए दज�म��ा� दक�ह� �� का�क� क� �या�या क�दजए ।  

 

ख�‍ड‍ङ 

27. (क) े�न� न�त�ृ � �ा�ा े�न क� अ��� य�� �ा क�  उ� �ान क�  द�ए उठाए गए दक� ह� ेा� क�म� का 
�ि�न क�दजए ।  6 

 अथवा‍ 

 (ख) जापान क� दक� ह� ेा� द����तां � का �ि�न क�दजए ज� इसक� स�ा का एक �कैद�पक क� � � 

�नात� ह� ।  6 

28. (क) व989 स� व999 क�  ��  े भा�त म� घ�� दक� ह� ेा� �मखु �ाजन�दतक घ�नां � का �ि�न 

क�दजए ।  6 

 अथवा‍ 

 (ख) भा�त क� अदधका�� �ाजन�दतक पाद��य� क�  ��े उभ�� सहमदत क�  दक� ह� ेा� म�ु� का �ि�न 

क�दजए । 6 

29. (क) समका��न द�� � म� स�य�ु त �ा� � क� �ास�दगकता क� � या� या क�दजए । 6 

 अथवा‍ 

(ख) ‘‘स�ु�ा प���� म� समान �दतदनदध� � क� कम� है ।’’  

 उपयु�� क�न क�  स��भ� म�� स�यु� त �ा� � क� पनु��ेना क� आ�� यकता क� � प� � क�दजए । 6 



 

59/S/2 21 P.T.O. 

Note :  The following questions are for the Visually Impaired Candidates only, in lieu 

of Q. No. 26 : 1+1+2=4 

 

(26.1) In which year was the privatisation of agriculture introduced in China ?  

(26.2) Name the leader who led the Communist revolution in China.  

(26.3) Explain any two factors responsible for the growth of Chinese economy.  

SECTION E 

27. (a) Describe any four steps taken by the Chinese leadership for the growth of 
Chinese economy.     6 

   OR 

 (b) Describe any four features of Japan that make it an alternate centre of 
power. 6 

28. (a) Describe any four major political developments that took place in India 

from 1989 to 1999.   6 

   OR 

(b) Describe any four issues on which consensus has emerged among most 
political parties of India.   6 

29. (a)  Explain the relevance of the United Nations in the contemporary world.   6 

 OR 

(b) ‘‘The Security Council lacks equitable representation.’’  

 In the light of the above statement, explain the need for restructuring the 

United Nations. 6 
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30. (क) व947 म� द�द�� इ�द�या क�  द�भाजन क�  दक� ह� ेा� प��िाम� का द�� ���ि क�दजए । 6 

 अथवा‍ 

 (ख) मदिप�ु क�  भा�त�य स�घ म� द��य क�  द�ए उ���ाय� घ�नां � का द�� ���ि क�दजए । 6 
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30. (a)  Analyse any four consequences of the partition of British India in 1947. 6 

 OR 

(b) Analyse the events that led to the merger of Manipur into the Union of 

India.    6 

 
 

 

 




